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Economics
Paper III

ATy
woatser 110

Time Allowed : 2% Hours] [Maximum Marks : 200

Instructions :—This paper has four (4) Sections. Each Section has its own separate

Gkl
Instructions
T i

1. (@)

1. b)

1 (c)

1. (d)

instructions regarding the length of the answer, the choice of
questions and the marks assigned to each question to be answered.
There are totally Nineteen (19) questions to be answered. Maximum
marks are 200.
I YIAIRd THU AR (4) HF Aed. Todsh YFd 1 HRT= W&o
o1 foean smed. «d SuE sty offell, JeArEl Hag 9 Yodsh e
il TUIfoe Hifed SR, TR 19 YeAEl SW QU STERdh 3.
FAC U 200 3T
SECTION 1
(W D

:—In this section you have to attempt 2 (Q. No. 1 and Q. No. 2)
questions of about 500 words each. Select one question from
Q. No. 1(a) to Q. No. 1(e) and one question from Q. No. 2(a)
to Q. No. 2(e). Each question is assigned 20 marks.

N YFHE Rl Y& 500 =i 2 (9. %. 1 9 9. . 2) geAE!

ST fagEa=l Med. W9 F. 1l(a) 9 1l(e) T % yva o=l 999 .
2(a) T 2(e) T TH WA frael yd& UeAen 20 U S

State the assumptions of classical linear regression model. Explain
the use of each one in the OLS estimation.

Explain how aggregate output and employment are determined under
Keynesian model.

HTAl YfHAG kel 3caed d TSR hdl Sl O TR R
What do you understand by foreign exchange speculation ? How does
the speculation occur in forward market ?

= Aa fadelt See ufeed BUN & ? SRS 9 e
Ted Ad ?

Comment on the restructuring of Regional Rural Banks (RRBs) in
India.

YRR &1 T SR TREIeR 9T &AL
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(e) Examine the trends in Expenditure of Central Government since
1991.

1991 UR[E &% RS TE YIdd URKIEU &
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(@)
b)

(c)

(d)

(e)

AUG - 11311/111
State the problem of heteroscedasticity in the linear regression model.
Discuss the methods to detect this problem.
“It is always possible to maximine sales revenue in Baumol’s
model.” Discuss.

e wfdEe (SENEESE)  fost UTel HewHie o qeHe il

Discuss how the world trading system evolved. What are the con-
troversies regarding present world trading system ?

SFTfdes AR L=l IGhidl Il el A=l F9l . SFlfae AR
FEded Hed deyE He hlvd 7
What are the challenges before agricultural sector in India ? Comment

in the light of developments during the 9th and 10th Plans in
India.

YR I &EMIerd STeg IVl ? Foledl d Sl Yaesieh s
FTAGSIT WA= Gedid 9rsg .

Examine the outcome of the implementation of Fiscal Responsibility
and Budget Management Act, 2003 in India.

YR TSTRIOE  Saeerl A0 Ad99ehedrd  sJaiqay  SEgl, 2003 =
AT eI T AL
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SECTION II
(| 1D
Instructions :—There are 3 (three) (Q. No. 3 to Q. No. 5) questions to be answered,
each in about 300 words. These questions are based on the electives.
Select one elective out of five electives and answer 3 (three) questions
given below it. Each question is assigned 15 marks.

ot :— 1 9 3 () (W F. 3 T W H 5) UTART IW TRl 300 I

foeEar=t omed. ¥ WYH ure UEEl fauagedsi omed. o ure yArEideht
FIvAE T A fawa fraer 9 @mEwri@ 8 (9F) W W s
YUY 15 U 3Ted.

Elective I

3. What are the reasons for the existence of heteroscedasticity in econometric
models ? Describe the Goldfeld-Quandt test to detect heteroscedasticity for
the model Y, =f; +B.X; + ;.

4. What is the difference between ARMA and an ARIMA process ? Describe
the Box-Jenkir’s methodology to identify the processes.

5. Suppose one wants to test whether autonomous consumption and marginal
propensity to consume have both shifted after liberalisation in India. How
can one do this using Dummy variables ? Explain the Dummy variable
trap and way to overcome it.

Or
(feram)
Elective II
3. Why monopoly is inefficient ? How the inefficiency of monopoly is
measured ? Explain.
TGl ThEHH 1 A ? AHRQRIA JAhHGHdD AIH FH ol S 2 T
h .
4, Derive aggregate demand curve when prices are flexible in IS-LM framework.
Explain the impact of expansionary fiscal policy on price level and output
in Keynesian and classical case.

IS-LM = drhed 47 fewdren qRiEgdia o AFol Seerel S qeE.
forRer=AT USTehlsa gRum=n fohmd ardedtar ST IcareTeR h-=eitad 3mfor stfymauedia
Hd BV URumME TR AL

5. State the assumptions under which Solow’s Model is different from Harrod’s
Model. Explain the conditions of stability in Solow’s Model.

e wfaae g0 gfaammen Fiven Jiearen devid fu= weu o @ quE.
reArea gfauHel  fekiepomen 3] T .

13 P.T.O.
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Or
(feram)
Elective III

Define ‘New Protectionism’. Discuss the various problems related to
it.
TISRGUERTE AR FU. AR Hatgd fafay geaEl == w9
What is meant by foreign exchange speculation ? How does speculation
take place in spot market ?

foeefl Joe UReedd WU &M@ ? TR dNRM GR&edd &Y HeA
IJq ?

Discuss the dispute settlement machinery in the WTO.
SAIfdeh SAUR. FeeAd faae @ oMl IEon W &
Or
(feram)
Elective IV
What were the measures taken by the Government to improve farm productivity
in India ? How far were they successful ?
;Rglm FU IAGHA FURUAEE! HIUd 3TF Aol T 2 d Thaua Fewe
7
Attempt a critical review of the working of Commission for Agricultural
Costs and Prices in India.
YRAGial el ©d oAU fhad  STEnTen wEfRe Jdas  AeE =
Examine the measures taken by the Government to improve agricultural
marketing in India.
I HfH fauom gurRoaEdl e Saedl SURESHY THa0 .
Or
(feram)
Elective V

Comment on the strategy of inclusive growth followed by 11th Five Year
Plan 2007-12.
T 2007-12 A1 FHEO@SHA YRATAT THTAT GHAltE ANl JaaHeAE
Ffgg=a ek 9 HA.
Assess critically the measures taken by the Government to control price
inflation in India.
YRAd Soig fohAqae UEuardel ihRA St SUFASHl el fao Ziehcas qierm
.
Attempt a critical review of the disinvestment policy pursued by the
Government in the last two decades.

el A SR WERT S fr{qauer gro gege @ren fafecs et
=1,
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SECTION III
(vmr IID)
Instructions :—In this section you have to answer all the 9 (Q. No. 6 to Q. No 14)
questions, each in about 50 words. Each question carries 10 marks.

g - I 9 99 9 (W. %. 6 d 9. . 14) UIAEl SW fdgEEr
IMed. T WA SW HWEROU 50 & foel. U WeAren
10 U 3R
6. Define marginal revenue product and value of marginal product. How are
they related with each other when there is perfect competition in product
market ?

et e it e A o ) ) e T e e G | | | 2 O s e AR o £
TN U TE A sl A QR i Hed a7
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7. Define compensated demand curve.

gfaqdl AR FeRre SATEA foml
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8. State how Tobin’s demand for money approach is different from Keynesian
approach.
ke B e o A 1 e B o i s o oA o1 e £ e o B 1 o B
[r.

26
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What is the major assumption which leads to vertical shape of aggregate
supply curve ?

Focdl Heaqu Tfedes Fhal qlEal aw fafases g ?

27 P.T.O.
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10. Discuss globalization with reference to the movement of factor
inputs.
e STRMMEA] FeHld  SIFIAehIhIvol  {Isg ol

28
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11. Write a brief note on Hedging.
‘T’ AR g <M foEn
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12.  What are the objectives of introducing Goods and Services Tax (GST) in
India ?

YRAW % 0 el Y HARRUTYE geold A=l & HE 2

30
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13. Elaborate in brief the factors affecting cropping pattern in India.
ARAA 9 FlEa IRomq ueeq SR Hew  dieedra  favie &

31 P.T.O.
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If the demand function is given as P = 18 — 2x — 3x2 and consumer buys
2 units, compute the consumer’s surplus.

TEST, AFON Hed P o= 18 — 2x — 8x2 o fooi ¥ ofur Sy 2 A
TS HA A W e ARHAl Gdeeeare qr99 .
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SECTION 1V
(W 1IV)
Instructions :—A paragraph is given below. Please read it carefully and answer
the questions (Q. No. 15 to Q. No. 19) following it, each in about
30 words. Each question is assigned 5 (five) marks.
The story of regulation in the power sector contrasts sharply from that
in the telecom sector in India. There are three main reasons for this
divergence. First, privatization has not yielded any significant results in
the power sector. The political economy bias in favor of the status quo
was far more entrenched in this sector. Second, in addition to problems
caused by the inability by the distribution companies to charge reasonable
tariffs, especially from the agricultural sector, difficulties stemmed from the
fact that the World Bank played a more direct role in setting policy agendas
in power sector, compared to its far less influential position in telecom reforms.
The divergent outcomes across the two sectors highlight the absence in
the power sector, of a homegrown approach to institutional and policy reform
which had been so much in evidence in the telecom sector reforms. Third,
since the power sector lay in the concurrent list of the Indian Constitution,
much of the regulatory action was at the state level of the India’s Federal
System. Numerous State Electricity Regulatory Commissions (SERCs) had
a tough time fighting the politically entrenched State Electricity Boards
(SEBs). Such has been the level of disillusionment with Government monopolies
at the state level that the World Bank has proposed that the power of
the regulators be curbed and executive authority be enhanced, even as
the Electricity Act of 2003 has enhanced the powers of the Central Electricity
Regulatory Commission (CERC).

The inability of the power sector to collect revenues from the distribution
of power has contributed significantly to India’s fiscal deficit. In 2002-03,
the aggregate fiscal deficit of the states was 4.7 percent of GDP. The losses
of the State Electricity Boards was at Rs. 2.4 trillion ($ 53.3 billion) alone
were equal to 1 percent of India’s GDP. Between 1992-93 and 2001-02 the
percentage of power supply costs recovered through the average tariff declined
from 82.2 percent to 68.6 percent. Pilferage accounted for about 40 percent
of the electricity generated. The puzzle for generating competition in the
power sector was how to involve power sector in an area where a majority

of customers were not used to paying tdll”‘w
oAl :— Tl T 9= el 3. d F9a Fressiigds 9] J el g
(4. %. 15 4 . . 19) Tl F9RY 30 ¥ Il fofel. T Tl

arel_(5) T 3.
YRATdIe ot &=l AT s <@ ER &lvucuﬂ ﬁﬁfiﬂﬁm aﬂm 3 tr&ﬁa?ﬁ
gyifad. gl f?:l’?ltrrl:rrﬁ i ugE B W0 oS &Td

RS mawmﬁa m.mmﬁammﬁm Fd
S 9 gRfeedt Savarss W%ﬁ?ﬁgﬂﬂgﬁlmﬁﬁww—wqu
T S SR, fave & 9l aamed, STHddr Sreded 3 gaen i
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-,

. T UEER_ &I GURTETed ST s e oo WurEl Feed,
qu & éa%”ﬂa RO a%ﬂmm SITideh Sl Wos Wed HeWM &l o
ﬁ$ﬂaéﬁﬂﬂwﬁnhm.maﬁ?MWﬁfrﬁwﬁrﬁﬁ@w
'QEF

FURFEd B0, QEOR &3 GEATHE I URUcHs: GUROIEE S
mmmmwwwammﬁm%mm
WRA_ISFEeT WA e O T § WRAE SRS A
HIHATE! TSI el A, 3Fh T d1S A AERH THHR0E 2T
JK, oft ebWkkh nle gk djlosykysvigs- jKI, ikyhojty |jdKh el akdT&E&Ed
ST dehdl Sqehl TSRSl YHIE e &1 2003 =1 &S wEeH S had
oS fams SAErE. SR aedad e 9 e fEHe Aeae sAfwr
HAGd d IMEFFA0E  HUhR Teded T8 S s WK el
s faqon & @A 30 Az v A Fedn 9Rad faiE @ e W
aTed Tefl 38 ¥ 2002-03 A1 Gl Togr=al Tyl fasig e gH T 9=
IO 4.7% B4 96 TG 919 Heerdl UHY drel % 2.4 fefamm (53.3 fafa
eferd) = d @ 9RAeAl T QUG SRl 1% Ial el F4 1992
93 T 2001-02 I TWAM fos=n [ael @4 a1 AMRA 99 oI FHI
82.2% IEA 68.6% TId TEA. dre MAfHdT=N 40% 9 AR WG Bl Sgan
oSl ek foel WA=l WITTEld qed AEed oS & TqUl e STHEd Aol
g TH wied e
How does the regulation in power sector of India contrast from that in
the telecom sector ?

AR &= gad oS e Eed ufeda s 98 fegd I ?
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16. Why has it been difficult to implement power sector reforms
effectively ?

S AT GUROT YROTRREGT AT A0 HI0 R A R 7

17. How has the Indian power sector been responsible for the country’s fiscal
deficit ?

I fodd N R S &9 &9 SEERR S 2

35 P.T.O.
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How do you find a correlation between states’ aggregate fiscal deficit and

18.
the losses of the State Electricity Boards ?
T A A die 9 QU THU A @ I WeREsd gae 1
G AR ?

19. Why was there a problem in generating competition in power sector of

the country ?
Syl S &d Ty AEir samr e w1 FEi g@et ?

36
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ROUGH WORK
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